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i COPYRIGHT (¢) 1978, 1980, 1982, 1984 BY

i= DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS.

{* ALL RIGHTS RESERVED.
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is INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER *
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i* THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE
i* AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT
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; Facility: Command Definition Utility, CLD Parser Module 2

Abstract This module is one of a few modules that implements the
Yarser for CLD files. This parser translates the (LD source
anguage into an intermediate representation composed of
nodes (inked in a directed graph.

i Environment: Standard (DU environment.

Author Paul C. Anagnostopoulos
Creation: € December 1982
Hod1f1cattons
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Library slsSltbrary :Lib';
require \tabde
require 'cdureq’;
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forward

external

external

TABLE OF CONTENTS

routine

cduSparam_c Lause,
cduSqual_clause,
cduStype_c lause,
cduSkeyword_c lause,
cduScommon_c¢ Lause,
cduSvalue_clause,
cduSbuiltin_type,
cduScli_flag;

EXTERNAL REFERENCES

routine
cduScheck_for_children,
cduScreaté_node,

cdusfct next_token,
cdu$lookup_child,
cduSreEort_syntax_error.
cduStoken_must_be;

cdusgl_token_class: long,
cdu$gq_token: descriptor;
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! Descri

Parameters: parent

i Notes:

IN

10
1!-50 -1984 23:48:10 VAX=
14-503-1984 1:53:26 DI

ption: This s¥ntax routine recognizes the '‘param-clause’ construct,
s used to define the characteristics of a parameter.

which

Returns: The top-level node representing the parameter clause,

or zero if there aren't any more.

GLOBAL ROUTINE cduSparam_clause(parent: ref node)

= BEG

clause: ref node;

! Determine which kind of clause we have.
if token_is(tkn_k_symbol, 'PROMPT') then (
! We have an PROMPT clause. It conflicts with any existing clause.

if cduScheck_for_children(.parent,node_k_prompt) then
cduSreport_syntax_error(msg(cdu$_dupprompt));

! Bypass any optional equal sign.

cduSget_next_token();
skip_optional_token(tkn_k_equal);

! Now we have a symbol or string which is the prompt. Store the

! prompt in a node.

clause = cduScreate_node(node_k_prompt,.cdu$gq_token[len],.cdus$gq_tokenlptrl);

if token_is(tkn_k_symbol) then
. cduSget_next_token()
else
cduStoken_must_be(tkn_k_string);
return .clause;

! We either have a common clause now, or we've run out of clauses.
return cduScommon_clause(.parent);

.TITLE PARSE2
-IDENT \Vv04~-000\

.PSECT SPLITS ,NOWRT ,NOEXE,?2
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By reference, parent node of this construct.
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; Routine Size:

5¢ 50 4D 4F
Sg 000000006
55 000000006
56 000000006
oo
50
00 60 FC
0000*
04
000000006 8g
000000006
000000006 00
65
06
65
7€ FC
000000006 00
52
0o
65
000000006 20
0
04

0000v CF

131 bytes, Routine Base:

52 50
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CDUSPARAM CLAUSE, Save R2,R3,R4,RS5,R6

§s, Ré

CDUSGQ_TOKEN, (RO), #0, #6, P.AAA

1:58:26 DISKSVMSMAST
LASCII  \PROMPT\
LEXTRN CDUSCHECK FOR_CHILDREN
LEXTRN CDUSCREATE NODE
LEXTRN CDUSGET NERT_TOKEN
EXTRN CDUSLOORUP_CRILD
.EXTRN CDUSREPORTZSYNTAX_ERROR
LEXTRN CDUSTOKEN MUST BE
.EXTRN CDUSGL_TOREN_CCASS
.EXTRN CDUSGQ_TOKEN, CDUS_DUPPROMPT
PSECT SCODES,NOWRT,?2
LENTRY
MOVAB  CDUSGL_TOREN_CLA
MOVAB CDUSGET NEXTTTOKEN, RS
MOVAB  CDUSGQ_TOKEN®4, Ré
CMPL CDUSGL_TOKEN_CLASS, #13
BNEQ 5%
MOVL C(DUSGQ_TOKEN+4, RO
CMPCS
BNEQ 5%
PUSHL #19
PUSHL  PARENT
CALLS 05. CDUSCHECK_FOR_CHILDREN
BLBC RO, 18
PUSHL  #CDUS_DUPPROMPT
CALLS #1, CDUSREPORT SYNTAX ERROR
CALLS #0, CDUSGET NERXT _TOKERN
CMPL CDUSGL _TOKER_CLASS, #6
BNEQ 28
CALLS #0, CDUSGET_NEXT_TOKEN
PUSHL  CDUSGQ_TOKER+4
MOVZWL CDUSGQ_TOKEN, =(SP)
PUSHL #19
CALLS #3, CDUSCREATE_NODE
MOVL RO, CLAUSE
CMPL gbuiGL_TOKEN_CLASS. "3
BNEQ $
CALLS #0, CDUSGET_NEXT_TOKEN
BRE 43
PUSHL #11
CALLS #1, CDUSTOKEN_MUST_BE
=g¥t CLAUSE, RO
PUSHL  PARENT
ae%ts #1, CDUSCOMMON_CLAUSE
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lee
! Description: This s¥ntax routine parses the '‘qual=clause’’ construct

which is used to describe the characteristics of a Qua[ifier.
Parameters: parent By reference, parent node of this construct.

Returns: The top-lLevel node roprosonting the qualifier clause,
or 2ero if there aren't any more.

i Notes:

la=
GLOBAL ROUTINE cduSqual_clause(parent: ref node)
= BEGIN
local
clause: ref node;
! Determine which kind of clause we have.
if token_is(tkn_k_symbol,'BATCH') then (
! We have a BATCH clause. It is represented by a node.
cduSget_next_token();
: return cduScreate_node(node_k_batch);
if token_is(tkn_k_symbol,'NEGATABLE') then (

1
1
1
1
1
1
1
1
1
1
1
1
;
s ! We have a NEGATABLE clause. It is represented by a node.

! This clause conflicts with any existing NONNEGATABLE clause.

if cduScheck_for_children(.parent, node_k_nonnegatable) then
cduSreport_syntax_error(msg(cdu$_confnonneg));

cduSget_next_token();
return cduScreate_node(node_k_negatable);
if token_is(tkn_k_symbol, 'NONNEGATABLE') then (

! We have a NONNEGATABLE clause. It is regga:g:éfg b{ a node.
cla

if cduScheck_for_children(.parent, node_k_negatable) then
cduSreport_syntax_error(msg(cdu$_confneg));

! This clause conflicts with any existing use.

cduSget_next_token();
) return cduScreate_node(node_k_nonnegatable);
if token_is(tkn_k_symbol, 'PLACEMENT') then (

! We have an PLACEMENT clause. It conflicts with any existing clause.

10
1g-S -1984 :468:1 AX=11 iss= 4.0-7
1‘_509 ¥:Sg: 0 v Bliss=32 v4.0

74 P
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PARS 1§-So -1984 23:48:10 VAX=11 Bliss=32 v4.0-74 P
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it cduScheck_for_children(.parent, node_k_placement) then
cduSreport_syntax_error(msg(cdu$_dupplace));

! Bypass any optional equal sign.

cduSget_next_token();
skip_optional_token(tkn_k_equal);

0

:

&4

:

g ! Now we have a s{nbol which tell us where the qualifier can appear
3 : on the command line. C(reate a node with the symbol
i

4

5

if not token_is(tkn_k_symbol,'GLOBAL') and
not token_is(tkn_k_symbol,'LOCAL') and
not token_is(tkn_k_symbol,'POSITIONAL') then
cduSreport_syntax_error(msg(cdu$_invplace));
clause = cduScreate _node(node_k_placement,.cduSgq_token(lenl,.cduSgq_tokenlptrl);
cduStoken_must_be(tkn_k_symbol);

SIBIEGRECSEERIRRRIIL 282N

PPN PIRINI PRI PIRI NI NIND b b ol i o i e cd e i i
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g return .clause;
0938 );
0939
832? ! We either have a common clause now, or we've run out of clauses.
832 return cduScommon_clause(.parent);
0944 1 END;
PSECT SPLITS,NOWRT,NOEXE,2
48 43 54 41 42 00006 P.AAB: .ASCII \BATCH\ :
45 4C 42 41 S& 41 47 4S5 4E 00008 P.AAC: .ASCII \NEGATABLE\ :
45 4C 42 41 54 41 47 45 45 4E 4F 48 00014 P.AAD: .ASCI] \NONNEGATABLE\ ;
S 4E 45 4D 45 43 41 4C SO 00020 P.AAE: .ASCII \PLACEMENT\ :
4C 41 42 4&F 4C 47 00029 P.AAF: .ASCII \GLOBAL\ ;
4 41 43 &F 4&C ooogz P.AAG: .ASCII \LOCAL\ ;
4C 41 4E 4F 49 54 49 S3 4F SO 00034 P.AAHM: .ASCII \POSITIONAL\ :
.EXTRN CDUS_CONFNONNEG
.EXTRN CDUS_CONFNEG, CDUS_DUPPLACE
.EXTRN CDUS”INVPLACE
.PSECT S$CODES,NOWRT,?2
0FFC 00000 .ENTRY ggu:?gAktgLAUSE. Save R2,R3,R4,RS,R6,R7,R8,~; 0875
ge 000000006 80 9 ooogg MOVAB  CDUSCREATE NODE, R11 :
A 000000006 9€ 000 MOVAB  CDUSCHECK_FOR_CHILDREN, R10 ;
59 008' F 9t 0012 MOVAB P.AAB, R9 3
g; 0006 9€ 0001 MOVAB  CDUSREPORT SYNTAX ERROR, RS :
8 0006 9t 0015 MOVAB  CDUSGET _NEXT_TOKER, R7 :
gg 00000006 9€ 000 MOVAB  CDUSGL _TOKEN_CLASS, Ré 3
000000006 00 9; 002A MOVAB  (DUSGQ_TOKENT4, RS 3
o0 ? §§ 1 gzgk ggUSGL_TOKEN_CLASS. "3 : 0884
50 . 38 MOVL  CDUSGQ_TOKEN+4, RO ;
05 00 60 FC AS 2D 00039 CMPCS  CDUSGQ TOKEN, (RO), #0, #5, P.AAB :

A e e Emi A e B e R Sia B BLim.Bia.a. BB m. 0.0 00N R S AL E. B s AL B R B Al Ba B B B B R a R B R B . B e B - e




F 10
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1&-5-3-193& f?:sgzza ozsxsvnsnAsren:[cou.snciruassz.asz;1 % @
9 3F :
7 12 0004 BNEQ 1 .
67 0 FB 0004 CALLS #0, CDUSGET_NEXT_TOKEN : 0888
16 DD 0004 PusSHL #20 : 0889
oD 22 o1 000¢o 18 GAPL  COUSGL_TOKEN_CLASS, #13 : 0892
3 18 004( BNEQ Ss . b :
50 £ s 0 LE MOVL CDUSGQ_TOKEN+4, RO .
60 rg AS 20 00 g CMPCS  CDUSGQ_TOKEN, (RO), #0, #9, P.AAC :
0 &3 0057 :
18 12 00059 BNEQ 3 .
16 0D 882' PUSHL  #22 : 0897
06 AC DD ) PUSHL  PARENT :
6A fs oosg CALLS '8’ DUSCHECK_FOR_CHILDREN :
09 E9 0006 BLBC RO, 2% ;
000000006 8F DD 00066 PUSHL  #CDUS_CONFNONNEG : 0898
6 01 FB 0006C CALLS #1, CBUSREPORT_SYNTAX ERROR .
6 02 FB oogr 2%: CALLS #0, CDUSGET_NERXT_TOKER : 0900
15 DD 00072 PUSHL  #2f : 0901
28 11 00074 BRB 5% :
(i]) 66 D1 00076 38: CMPL CDUSGL_TOKEN_CLASS, #13 : 0904
2A 18 0079 BNEQ 6% :
50 65 DO 00078 MOVL CDUSGQ_TOKEN+4, RO :
60 FC A5 2D 0007E CMPCS  CDUSGQ_TOKEN, (RO), #0, #12, P.AAD :
0E A9 00084 3
'2 12 00086 BNEQ 6% :
15 oD 8005& PUSHL  #21 : 0909
046 AC DD 0008A PUSHL  PARENT :
6A 02 FB 0008D CALLS  #2, CDUSCHECK_FOR_CHILDREN :
09 S0 E9 000 BLBC RO, 4$ :
000000006 8F DD 0009 PUSHL  #CDUS_CONFNEG : 0910
68 01 FB 00099 CALLS #1, CDUSREPORT SYNTAX ERROR : |
67 00 FB 0009C 4$: CALLS #0, CDUSGET_NEXT_TOKER : 091
16 DD 0009F PUSHL  #22 : 091
68 01 FB 000A1 5§%: CALLS #1, CDUSCREATE_NODE ; A
04 800A4 RET 3
(1)) 66 D1 000AS 6%: CMPL CDUSGL _TOKEN_CLASS, #13 : 0916
og 18 800A8 BNEQ 7% ;
50 6 g 00AA MOVL CDUSGQ_TOKEN+4, RO ;
60 FC A5 20 800A CMPCS  CDUSGQ_TOKEN, (RO), #0, #9, P.AAE :
1A A9 008 3
79 12 00085 7%: BNEQ 138 :
17 0D 000B7 PUSHL  #23 : 0920
04 AC DD 000B9 PUSHL  PARENT :
HA 2 rg 008C CALLS ts. snuscuecx_roa_cultonen :
09 E9 000BF BLBC RO, 8% ;
000000006 8F DD 000C PUSHL  #CDUS DUPPLACE ;0921
6 1 B 000C CALLS #1, CPDUSREPORT SYNTAX ERROR :
‘ 0 FB 000CB 8$: CALLS #0, CDUSGET NERT TOKER ; 0955
06 ?1 cs CMPL SDUSGL_TOKEN_CLASS. g : 0926
2 0 BNEQ $ 3
67 F8 00003 CALLS  #0, CDUSGET_NEXT_TOKEN :
& D& 803 9%: CLRL R4 ;09
(]) 6 ?1 D CMPL cguscL_toxen_CLAss. "3 :
f 0008 BNEQ 108 ;
& D6 0000D INCL R4 ;
50 65 DO 000DF MOVL CDUSGQ_TOKEN+4, RO :
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; Routine Size:

00

313 bytes,

60
&
&

000000006
68

$2

000000006 00
50

0000v CF

Routine Base:

4 8 R
ik Eg EC
62 gO Ef
f A 0 f
2 A9 F
19 1; FA
56 E OFC
6% go QOFF
FC A D 0010
2k A9 1
09 13 } A
g e
65 0D 0011
FC A; ¢ 0011
17 DD 00118
i 1 g
B o
22 03 012¢C
04 0012F
04 AC 0D 001
01 fB 0O
04 001

$CODES + 0083

18-Sep-198¢
14~ Sog- 19

108:

118:
12%:

—
(V]
[ ]
.o

8 f1:s8:28

CMPCS

BEOL
BLBC
MOVL
CMPCS5

VAX=11 Bliss-32 v4.0-

CDUSGQ_TOKEN,

12%

RG, 118
CDUSGQ_TOKEN+4, RO
CDUSGQ"TOKEN, (RO),

12

Ré, 118

CDU‘GO TOKEN+4, RO
CDUSGQ_TOKEN, (RO),

12%

ocous INVPLACE
#1, CBUSREPORT_SYNTAX_ERROR
cousco TOKEN+4~

cogsco TOKEN, =(SP)

ni. CDUSCREATE _NODE
RO, CLAUSE

(RO), #0, #6, P.AAF

#0, #5, P.AAG

'o. '10. P.‘A“

cousroxeu MUST_BE
CLiu

PARENT
#1, CDUSCOMMON_CLAUSE
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it there aren't any more.

1 Tee
1 ! Description: This syntax routine recognizes the "‘type-clause' construct,
} ; used to define the chargggor st‘cs of a data type.
} g Parameters: parent By reference, parent node of this construct.
} g Returns: The top-level node representing the type clause, or zero

i

i Notes:

VWAL

W) = O 000 NN AN = O O~ W

V0OV OOVOO

GLOBAL ROUTINE cduStype_clause(parent: ref node)
= BEGIN

local
clause: ref node,
item: ref node,
last_item: ref node;

! Determine which type of clause we have,
if token_is(tkn_k_symbol,'KEYWORD') then (
! We have a KEYWORD definition. The first thing must be the

VSN = OO 00 NOMAN SN N = O O 00 O NV B Wi
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VOO 3 O
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gs ! keyword name. C(reate a node for it.

40 cduSget_next_token();

21 clause = cduScreate_node(node_k_keyword,.cdus$gq_token(len],.cdusgq_tokenlptrl);
4 ! This clause conflicts with any existing KEYWORD clause with the same

:g ! name.

4 if cduSlookup_child(.parent node_k_keyword,

“ .clausofnodo-b_toxt length]),clauselnode_t_text]) neqa 0 then
«8 cduSreport syntax_error(-sg(cdu!_dupkoyf.1.clause node_b_text_Llengthl);
gg cduStoken_must_be(Tkn_k_symbol);

b)) ! We have a list of keyword definition clauses. Each is optionall

5 ! preceded b{ a comma. ALl of the items are chained as children of the

24 ! main qualifier clause.

55 loop (

5 skip_optional_token(tkn_k_comma);

S item = cduSkeyword_clauSel.clause);

S8 if .item eqla 0 theén Qxitloog:

23 ) Link_parent_to_child(clause,item, last_item);

61 ’

6 return .clause;

a

65 if token_is(tkn_k_symbol,'PREFIX') then (

ga ! We have an PREFIX clause. It conflicts with any existing clause.
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PARS 1g'50 -1984 148: VAX=11 Bliss=32 v4.0-74 P 10
V04-660 1230021088 $:48:00 MraRiimenadteRctou s tSoanse 2 032,179 (IS
: 99 1 i it cduScheck_for_children(.parent,node_k_prefix) then
: 7? } cduSFepoFt_syntax_error(msg(cdu$_dupprefix));
g ; } S ! Bypass any optional equal sign.
; oTh 1 cduSget_next_token();
: ;S } 8 skipgopfionat_tokon(tkn_k,oqual);
% ?8 } }? ! Now we have a symbol which is the prefix. Store it in a node.
; 101 clause = cduScreate_node(node_k_prefix,.cduSgq_token[len],.cduSgq token(ptrl);
; 1 1i cduStoken uust-bo(tln-k_synbot)?p -, b s
: 1 1014 return .clause;
i 588 1018 §
% gg }0}? ! There are no more type clauses.
: 89 1818 return 0;
i 538 1057 e
: INFO#250 L1:0992

Referenced LOCAL symbol LAST_ITEM is probably not initialized

PSECT SPLITS ,NOWRT,NOEXE,2

4 52 4F S7 59 45 4B 0003t P.AAI: .ASCII \KEYWORD\ ;
58 49 46 45 S2 SO 00045 P.AAJ: .ASCII \PREFIX\ :
.EXTRN CDUS_DUPKEY, CDUS_DUPPREF IX
.PSECT $CODES,NOWRT,2
07FC 0000 .ENTRY ggu:}gPE_CLAUSE. Save R2,R3,R4,RS,.R6,R7,.R8,-; 0957
SA 000000006 00 9t 02002 MOVAB  CDUSTOKEN MUST BE, R10 :
9 000000006 00 9€ 00009 MOVAB  CDUSREPORT_SYNTAX sanoa. () s
9 oogooooc 0 9F 0019 MOVAB  CDUSCREATE NODE, R ;
00 ogooc 3 9€ 0001 MOVAB  CDUSGL_TOKEN_CLASS, R7 :
2 80000 006 It °°!§ MOVAB CDUSGET NEXTTTOKEN, Ré6 3
§5 000000006 9 9€ 000 MOVAB  CDUSGA_TOKENT4, RS ; |
00 ; g 002¢ CMPL  CDUSGL TOKEN_CLASS, #13 : 0968
1 8 80 f BNEG 6% :
50 65 031 MOVL  CDUSGQ_TOKEN+4, RO ;
07 00 60 FC A5 20 000 CMPCS  CDUSGQ TOKEN, (RO), #0, #7, P.AAl ;
0000" CF 003A :
33 12 80 BNEQ 6% :
66 2 FB 0003F CALLS  #0, CDUSGET NEXT_TOKEN : 0973
65 DD 8‘2 PUSHL  CDUSGQ_TOKER+4 P 0974
7€ FC A5 3C 0004 MOVZWL CDUSGQ TOKEN, =(SP) :
18 DD 00048 PUSHL  #24 ;
8 g rs 004A CALLS  #3, CDUSCREATE_NODE ;
4 8 004D MOVL ng CLAUSE :
11 A4 9F 0005 PUSHAB 17{CLAUSE) : 0980
7€ 10 A4 9A 8°§ MOV ZBL lg(CLAUSE). -(SP) ;
18 0D 000 PUSHL  #24 :

i <

S T
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' PARS 1§-s¢ «1984 23:48:1 VAX=11 Bliss=32 V&.0=74 P 11
V04=660 14-3ep-198¢ 11158128 DISkivmEmASTER-CLD0 shcipanse2.832:17% (3]
| 06 AC DD 9 PUS PARENT :
000000006 00 23 rg §§ ge t :4. CDUSLOOKUP_CHILD .
3 ? 06 BEQL 1 :
10 A4 9F 0006 PUSHAB 1?(CLAUSE) ;0981
1 0D 86A PUSHL # :
000000006 8F DD 9 PUSHL ngous ogpxiv :
69 3 FB 000 CALLS #3, CDUSREPORT_SYNTAX_ERROR :
D DD 807 1% PUSHL #1$ : 0982
8A 1 r? 07 CALLS  #1, CDUSTOKEN_MUST_BE :
5 7 D1 0007A 2%: CMPL SDUSGL_TOKEN_tLASS. '} ; 0989
3 12 00070 BNEQ $ :
(Y 0 fB 8orr CALLS  #0, CDUSGET_NEXT_TOKEN :
& DD 00082 3%: PUSHL c%iuse * 0990
0000V gr 21 f oog« CALLS  #1, CDUSKEYWORD_CLAUSE : ‘
3 0 00 00089 MOVL RO, ITEM :
50 13 0008C BEQL 9% : 0991
08 A4 D5 0008E TSTL  B(CLAUSE) : 0992
gg 12 00091 BNEG 48 :
08 A4 D 0093 MOVL 41’5!. 8(CLAUSE) :
04 11 00097 BRB $ ;
06 A s; D0 00099 4$: MOVL  ITEM, 4(LAST_ITEM) : |
5 53 DO 00090 5%: MOVL TEM, LAST_ITEM :
o; 11 000A0 BRB $ ; 0935.
00 67 DI ooni 68: CMPL  CDUSGL_TOKEN_CLASS, #13 ;099
‘218”“ BNEG 108 ; |
50 ¢ g 00A7 MOVL  CDUSGQ_TOKEN+4, RO :
06 00 6 oobE, AS 2 00OMA (MPCS  CDUSGA_TOKEN, (RO), #0, #6, P.AAJ :
A 12 8ooag BNEQ 108 ;
0F DD 00085 PUSHL #15 : 1002
046 AC DD 00087 PUSHL  PARENT :
000000006 00 os FB 000BA CALLS ns. ;ouscuecx_roa,cnxuonen ;
09 50 E9 000C1 BLBC RO, 7§ ;
000000006 8F DD 000C4 PUSHL  #CDUS DUPPREF IX {1003
69 81 FB 000CA CALLS #1, CDUSREPORT SYNTAX ERROR :
6 9 FB8 000CD 7%: CALLS #0. CDUSGET NERXT TOKER : 1007
06 67 D1 000D CMPL SDUSGL_TOKEN_CLASS. " : 1008 |
03 12 0000 BNEG 5 ; ;
66 02 F8 0000 CALLS  #0, CDUSGET NEXT_TOKEN ; |
3 go 0008 8%: PUSHL  CDUSGQ_TOKER+4 P 1012
7€ FC A5 3C 000DA MOVZWL cogsso_toxen. -(SP) :
0f DD 000D PUSHL  #1 ;
ga 23 rs 885 CALLS  #3, CDUSCREATE_NODE ;
4 D 3 MOVL RO, CLAUSE ;
D DD 000EH PUSHL # 11013
6A 1 FB 000E8 CALLS  #1, CDUSTOKEN_MUST_BE ;
50 4 80 00EB 9%: MOVL  CLAUSE, RO P 1014
S0 00 GOGEF 108:  CimL RO : 1019
84 00F 1 RET ;1021
; Routine Size: 242 bytes, Routine Base: $CODES + 01BC
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PARS 15-50 -1984 23:48:10 VAX=11 Bliss=32 v4.0-74 Pa 12
voa-sso 1&-503-193« ¥1:53:26 DISKSVHSHASTER:[CDU.SRCiPARSEZ.DSZ:1 > (6)

3 1 1 1es

: 29 1 ; 1 ! Description: This syntax routine recognizes the '‘keyword=clause'’, which
; gi } g } ; is used to define the characteristics of a data type keyword.
: 92 }0 ? } g Parameters: parent By reference, parent node of this construct.
: 99 10 g 1 | Returns: The top-level node representing the clause, or zero if
s 29 10 13 there aren't any more.

: 33 1030 1!

: 1031 1 ! Notes:

: 300 10 i | le=

: 01 10 1 :

3 0; 1034 1 GLOBAL ROUTINE cduSkeyword_clause(parent: ref node)

: 30 1035 = BEGIN

: 304 1039

: 305 103 local

: 09 1038 clause: ref node;

: 30 1039

: 308 1040

: ?8 }821 ! Determine which kind of clause we have.

; }1 }82% if token_is(tkn_k_symbol, 'NEGATABLE') then (

: glg 1045 ! We have a NEGATABLE clause. It is represented bx a node.

3 i}g }82? ! This clause conflicts with any existing NONNEGATABLE clause.
;e 1048 if cduScheck_for_children(.parent,node_k_nonnegatable) then

3 }z }8;3 cduSreport_syntax_error(msg(cdu$_confnonneg));

;319 1051 cduSget_next_token();

: 320 105i return cduScreate_node(node_k_negatable);

: 32 105 )3

: 2§ 1054

3 é%‘ }822 if token_is(tkn_k_symbol, "NONNEGATABLE') then (

;325 1057 ! We have a NONNEGATABLE clause. It is reﬂresented br a node.
3 gzg }823 ! This clause conflicts with any existing NEGATABLE clause.

: 358 1060 if cduScheck_for_children(.parent,node_k_negatable) then

: gg }821 cduSreport_syntax_error(msg(cdu$_confneg));

;33 106‘ cduSget_next_token();

$ ig }822 return cduScreate_node(node_k_nonnegatable);

;33 1066 )

: iz }82: ! We either have a common clause now, or we've run out of clauses.
;337 1069 2 return cduScommon_clause(.parent);

; 338 1070

: 3N 107N END;

PSECT SPLITS ,NOWRT,NOEXE,?2

45 4&C 6% 41 564 41 47 45 4E 80068 P.AAK: ,ASCII \NFGATABLE\ :
65 4C 42 41 54 41 47 45 4E 4E 4F 4E 00054 P.AAL: LASCII \N NNEGATABLE\ :




04=600

09

0c

; Routine Size:

00

00

144 bytes,

000000006

0000v

Routine Base:

oW OV
OO0 COHrVIONN

00

CF

FC
0000°
04

000000006

FC
0000*

04

000000006

04

OFr O=00WVOP—-=NNOB>ONON—=0OO0WVIOP == NNCOO0O0OO
== =SO=TONOWV=T LSOO =TTONOOND NS O000000

01F

k 10
15=Sep-1
14=Sep-1

¢ 00000
GE 00003
9¢ 0000
9¢ 0019
9¢ 0001
95 0015
P21 000
18 0028
DO 0002A
20 000 g

000
12 00033
0D 0003
DD 8003A
FB 0003D
E9 0004g
DD 0004
FB 00049
FB 0004C
DD 0004F
11 00051
D1 00053
12 00056
D0 08058
2D 00058

00061
12 00064
DD 00066
DD 00068
FB 00068
E9 0006E
DD 00071
FB 00077
FB 0007A
pD 00070
FH 8007r
04 00086
DD 80087
FB8 0008A
0& 0008F

$SCODES + 02AE

1$:

2s:

3s:
4S:
5%:

%

PSECT
+ENTRY

¢ f1:88:

10 VAX=11 Bliss=32 V

26 DISKSVMSMASTER: [CDU SRC PARSE2.B32;:1

$CODES ,NOWRT,2

CgUSKEVUORD CLAUSE, Save R2,R3,R4,R5,R6,R7,=;

COUSGL _TOKEN_CLASS, aa
CDUSGET NEXT TOKEN
CDUSREPORT SYNTAX énnon R6

CDUSCHECK _FOR CHIfDREN. ‘RS
COUSGQ_TOREN+

SgUSGL TOK EN CLASS 3
CDUSGQ_TOKEN+4, RO

COUSGQ_TOKEN, (RO) #0, #9, P.AAK
2$

022

ARENT
08 gguscuscx FOR_CHILDREN
0c6us CONFNONNEG
#1, CDUSREPORT _SYNTAX ERROR
0g' CDUSGET_NEXT_TOKER
43
ggusGL TOKEN_CLASS, #13

COUSGQ_TOKEN+4, RO
CDUSGQ_TOKEN, (RO,

5$

2 ARENT
05 gguscuscx FOR_CHILDREN
#CDUS CONFNEG
#1, CBUSREPORT SYNTAX ERROR
agé CDUSGET_NEXT_TOKER

#1, CDUSCREATE _NODE

PARENT
#1, CDUSCOMMON_CLAUSE

#0, M2, P.AAL

Page

LA LR LR LRI AL R LA TR LR LR TR TR TR PR TI TR PR TN TR TN T T T T T T TR T T T TN T T T T T T T T T

13
(6) |
1034
1043

1o&a§

1049@

1051'
1052

1055

1060

1061

1063
1064

1069
1071 |
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PARS 15=Sep=1984 23:48:10 VAX=11 Bliss=32 V4.0-74 Pa
V04~ 14-509-1934 1:53:26 DlSKSVHSHASTER:[CDU.SRCiPARSEZ.BSZ:I (7)
: 21 }o;g } 5’3 ipti Thi : :
: ! Description: s syntax routine recognizes the '‘common=clause'' construct,
. 1 1874 1 5 which ¥s used to define the characteristics of parameters?
: :g }8;5 } i qualifiers, and keywords.
: 2? }8;9 } g Parameters: None
;348 1073 1 | Returns: The top-level node representing the clause, or zero if
3 23 }83? } 5 there aren't any more.
: g1 }osg } i Notes:
; si 1834 1
3 3§§ }832 1 ngEe%NROUTlNE cduScommon_c lause(parent: ref node)
{1 1087
: 357 1088 local
: 358 1089 clause: ref node,
: 359 1090 item: ref node,
: gg? }831 last_item: ref node;
H 109§
3 gg‘ }832 ! Determine which kind of clause we have.
: 322 }839 it token_is(tkn_k_symbol,'CLIFLAGS') then (
; Sg: }838 3 ! We have a CLIFLAGS clause. (reate a parent node for the flags.
;369 1100 3 clause = cduScreate_node(node_k_cliflags);
: g;? }}81 cduSget_next_token(J;
;372 110% ! We have a parenthesized list of CLI flags.
: 373 1104 ! Eat the open parenthesis. Then sit in a loop which recognizes at
: 374 1105 ! least one item, along with any others separated by commas. Finally,
: 375 1106 ! eat the close parenthesis. AlL of the items are chained as children
: 3;9 }}8‘ ! of the clause.
: g;g }}?8 ; Eduit?ken_nust_be(tkn_k_open_paren):
M 00
: 380 1M 4 ® % frem = cduscli_flag(); :
: 381 111§ 4 Link_parent_to_child(clause,item, last_item);
: Bg m 4 f not token_is(tkn k_connaf then exitloop;
: gg‘ }}}g 4 . cduSget_next_token(7J;
;385 m g cduStoken _must be(tkn k close paren):
: Sgs }}}2 ‘ return .clause? bl -
: 388 119 2 °
: 33 }} ? if token_is(tkn_k_symbol,'DEFAULT') then (
: 31 }} i ! We have a DEFAULT clause. It is represented by a node.
: 9§ 1124 cduSget_next_token();
: gg }} S : return cduScreate_node(node_k_default);
P39 1153 .
: 397 1128 it token_is(tkn_k_symbol,'LABEL') then (
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bo
863

: We have an LABEL clause. It conflicts with any existing clause.

it cduScheck_for_children(.parent,node_k_Label) then
cduSreport_syntax_error(msg(cdu$_duplabel));

o000
W0 —

! Bypass any optional equal sign.

cduSget_next_token();
skip_optional_token(tkn_k_equal);

OOOOO?

OO0 NN B NN = O OO NV NN = O O 00 NN SN N = OO 0~ O W

! Finally we have a symbol which is the Label. Make a node for it.

clause = cduScreate_node(node_k_label,.cdu$gq_tokenllenl,.cdusgq_tokenlptrl);
cduStoken_must_be(tkn_k_symbol);
return .clause;

P )

— S
— .

token_is(tkn_k_symbol, 'SYNTAX') then ( '
! We have an SYNTAX clause. It conflicts with any existing clause.

if cduScheck_for_children(.parent,node_k_syntax) then
cduSreport_syntax_error(msg(cdu$_dupsyntax));

! Bypass any optional equal sign.

cduSget_next_token();
skip_optional_token(tkn_k_equal);

! Finally we have a symbol which is the name of the syntax definition.
! Make a node for it.

clause = cduScreate_node(node_k_syntax,.cdu$gq_token[lenl,.cduSgq_tokenlptrl);
cduStoken_must_be(tkn_k_symbol);
return .clause;

A
S

if token_is(tkn_k_symbol,'VALUE') then (
! We have a VALUE clause. It conflicts with any existing clause.

L ol b b ol b oF ol b b b 2 oF 2 oF 0P oF o P o W o o W

WV WV (VW TV LV TP S LS LN L N LN N1 ST NT N1 N g e P P )
— il o il — i i -l il D il v ) il il ) ) = - - - — ) D = b D ) D il il D il D il D D D el el el D e i e ) D i e i el D e

Co 0o NNNNNNNNNVNNOO OO VI TN S S5 85 55 55 5 5 25 5 5 NN N U N NN
3bw?éggOﬂNOmbw-'oowNovlbw-ooaﬁombw—-ooaqombw‘oogqomamdoo

£ AU L U W W U A o U W L L W Ll U o W VD D L U U U U U U U W O U U U W U U AN U D) 1) U U N U N WA N AN U N L N N N NN
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440 if cduScheck_for_children(.parent, node_k_value) then

221 cduSreport_syntax_error(msg(cdu$_dupvalue));

22‘ ! Create a node to represent the clause.

445 clause = cduScreate_node(node_k_value);

22 cduSget_next_token(7J;

448 ! We have an optional parenthesized List of subclauses. i

449 ! Eat the open parenthesis. Then sit in a loop which recognizes at
450 ! least one item, along with any others separated by commas. Finally,
651 ! eat the close parenthesis. ALl of the items are chained as children
22 ! of the clause.

454 if token_is(tkn_k_open_paren) then (
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PARS 3:48:10 VAX=11 Bliss=32 v4&.0-74
v04- 14-Sep=1984 i1:53:26 DISKSVMSMASTER: [CDU. SRC PARSEZ2.B32; 1
;455 1" & cduSget_next_token();
3 & 9 1" Lloop (
: & 1188 item = cduSvalue_clause(.clause);
: 458 1189 Link_parent_to_ cRild(clause,item,last item);
;. 459 1190 if not token_is(tkn_k conaa’ then exifloop.
3 22? }}3; ? cduSget_next_token(7;"
E L6 1193 & cduStoken must be(tkn k close_paren);
;. &b 1194 ): 2 o T -P
;. Lb4 1195 ;
: 465 119? return .clause;
s & 119 ):
: &b 119&
: 468 1199 ! We don't have any more common clauses.
;. 469 1200
: 470 1201 return 0;
: &N 120§
: 472 1203 1 END;
: INFO#250 ti: 1112
: Referenced LOCAL symbol LAST_ITEM is probably not initialized
PSECT SPLITS,_NOWRT,NOEXE,?2
53 &7 41 4LC 46 49 4C 43 00060 P.AAM: _ASCII \CLIFLAGS\
56 &4C 55 41 46 45 44 00068 P.AAN: .ASCII \DEFAULT\
4C 45 42 41 4C O0006F P.AAO: .ASCII \LABEL\
58 41 5S4 4E 59 53 00074 P.AAP: _ASCII \SYNTAX\
45 55 4C 41 56 O0007A P.AAQ: .ASCII \VALUE\
EXTRN CDUS _DUPLABEL, CDUS_DUPSYNTAX
EXTRN CDUS DUPVALUE
.PSECT SCODES.NOWRT,?2
OFFC 00000 .ENTRY agugconngnug%Ause Save R2,.R3,R4,RS5,R6,R7,-
58 000000006 00 9t 00002 MOVAB  CDUSCHECK FOR CHILDREN R11
SA 000000006 00 9& 000 MOVAB CDUSCREATE NOBE. R10
59 000000006 Q0 9€& 00010 MOVAB  CDUSGET NERT TOKEN, R9
58 000000006 00 9€ 00017 MOVAB CDUSGL YOKEN CLASS, R8
57 000000006 00 9¢ 0001% MOVAB  CDUSGQ_TOKEN¥4, R7
0D 63 D1 808 CMPL gDUSGL TOKEN_ CLASS n3
49 12 00028 BNEQ $
50 67 DO 0002A MOVL CDUSGQ_TOKEN+4, RO
08 00 60 FC A7 20 000 g CMPCS CDUSGO TOKEN, (RO) #0, #8, P.AAM
0000* SF 00
B 12 000 BNEQ 5%
7 0D 000 PUSHL #7
6A - ¥ 003A CALLS ", CDUSCREAIE _NODE
54 0 0O 00030 MOVL RO, CLAUSE
69 09 FB 0004 CALLS #0, CDUSGET _NEXT_TOKEN
8 DD 086 PUSHL #7
000000006 00 1 FB 0004 CALLS #1, CDUSTOKEN MUST_BE
0000v CF 28 FB 0004C 1%: CALLS #0, CouscLI_FCAG
D0 00051 MOVL RO, ITEM

LER TR P TN Y
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1
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1096

1100
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]
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V04
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08
0¢

000000006

000000006

bi

69
0D
s
69
6A
0o

50
60

0o
00
06
69
7E

0o

68
0D

00
69
06

69

08

FC
0000°*

04

000000006

FC

FC
0000
04

000000006

OO OOOWVO P = WP W=D OO OOMWVOP =N POWOE O=00MNPO—=00O000O0 VWO >
OWRO ="ONO DWWV NYNWOOM B NYNOWRO =TONO PO NMYNDOO —=OOOVMNNNNOOONODOONHON0

1

1

?z OOE#
0§ 00029
0 0008
8 8006
13 80069
8 0006
11 000!
D1 00073
13 0076
g 0078
0 00078
00081

12 00084
FB 00086
DD 00089
FB 00088
04 0008E
D1 0008F
ls 00092
D0 00094
2D 00097
00090
00A0
00A2
00A4

ednadnaiiilasliaalulal-d-l-l-lolinlnlalalals]

ONN=DDOOVDOON OON==ODARODN~-DDOODOON
RS
NNOO P IWO P NHSNOODO NSO NVIND
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MO M MOMMNOO = NO LD =LOWONLOTMTTMNMOMMNO O -
[=lelelelelelel=lelelel=d=d=d=d=d=l=l=l=l=l=l=lw]lolelel=]

:10
126
g(
$
;T
$
IT
IT
cD
43
18
#0
1%
cD
63
cD
()]

O
o

VAX=11 Bliss~
DISKSVMSMASTE

CLAUSE)
EM, 8(CLAUSE)
M, &(LAST_ITEM)

3
EM, LAST ITEM
USGL_TOKEN_CLASS, #5

32 va.
R

» CDUSGET_NEXT_TOKEN
USGL_TOKEN_CLASS, #13
USGQ_TOKEN+4, RO
USGQ_TOKEN, (RO), #0, #7, P.AAN
63

:gg CDUSGET_NEXT_TOKEN

#1, CDUSCREATE_NODE
ggUSGL_TOKEN_CLASS. ”3
CDUSGQ_TOKEN+4, RO
CDUSGQ_TOKEN, (RO), #0, #5, P.AAD
9%

n26

PARENT

#2, CDUSCHECK_FOR_CHILDREN
RO, 7%

#CDUS _DUPLABEL

#1, CODUSREPORT SYNTAX ERROR
#0, CDUSGET NEXT TOKER
ggUSGL_TOKEﬂ_CLASS. 0o

#0, CDUSGET _NEXT_TOKEN
COUSGQA_TOKER+4
sogsco_roxew. -(SP)

153
gggSGL_TOKEN-CLASS. "3

CDUSGQ_TOKEN+4, RO
CDUSGQ TOKEN, (RO), #0, #6, P.AAP

138

#27

PARENT

#2,” COUSCHECK_FOR_CHILDREN
RO, 108

#COUS DUPSYNTAX

#1, CODUSREPORT SYNTAX ERROR
#0, CDUSGET NEXT TOKER
%?thL_TOKEN_CLASS. 'Y

#0, CDUSGET_NEXT_TOKEN

0-74 Page 17
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.PAR lg -Sep-1984 23:48:10 VAX=11 Bliss=32 v&.0-74 18
04-850 16-509-19 f1: 3 :26  DISKSVMSMASTER:[CDU.SRCIPARSE2.B32:1 gy ()
, 67 gn 105 118:  PUSHL  CDUSGQ_TOKEN+4 : 1162
7€ FC A7 3C 001 MOVZWL coy GQ-TOKEN, =(SP) :
15 p0 001 PUSHL c; :
| 3 2 rs 100 128:  CALLS #3. Cpu scnsAre _NODE :
4 0 00 0011 MOVL RO, CLAU :
00 oD 0011 PUSHL o1z ;1163
61 11 0011 BRB 19 :
00 69 D1 00117 138:  CMPL 502!6L TOKEN_CLASS, #13 : 1167
‘ 18 011A BNEQ 1 :
50 67 g 011¢C MOVL_  CDUSGQ_TOKEN+4, RO :
05 00 60 FC A7 2D 0011F CMPC5  CDUSGQ_TOKEN, (RO), #0, #5, P.AAQ :
i 0000 gf 81 5 :
9 12 00128 BNEQ 218 ;
1C oD 0012A PUSHL #28 F 1N
046 AC DD 801 C PUSHL  PARENT :
68 og rg 012F CALLS #2, couscuecx FOR_CHILDREN :
0D 50 E9 001 g BLBC RO, 148 :
000000006 &F DD 001 PUSHL 0cﬁus DUPVAL UE P12
000000006 00 01 FB 001 g CALLS CBUSREPORT _SYNTAX_ERROR : |
1C DD 00142 14%:  PUSHL 26 P 1176
6A 01 FB 00144 CALLS #1, couscnenre _NODE :
5¢ S0 DO 00147 MOVL  RO. CLAUSE ;
69 00 FB 0014A CALLS #0. couscer NEXT TOKEN 177
07 68 D1 0014D CMPL  CDUSGL_TOKER_CLASS, #7 : 1185
20 12 00150 BNEG  20$ ;
69 00 FB oo1s§ 158%: CALLS oo CDUSGET_NEXT_TOKEN : 1186
54 DD 0015 PUSHL L USE : 1188
0000V CF 01 FB 00157 CALLS . CDUSVALUE_CLAUSE ; |
56 50 DO 0015¢C MOVL o ITEM ;
08 A4 DS 0015F TSTL a(étauss) : 1189
06 12 00162 BNEG  16$ ;
08 A4 56 DO 00164 MOVL  ITEM, 8(CLAUSE) ;
04 11 00168 BRB 17 :
04 AS 56 DO 0016A 16$:  MOVL  ITEM, &(LAST ITEM) :
55 56 DO O016E 17$:  MOVL  ITEM. LAST ITEM ;
05 68 D1 80171 CMPL  CDUSGL_ roxEn CLASS, #5 P 1190
DC 13 00174 BEQL 158 ;
08 DD 00176 188:  PUSHL #8 P 1193
000000006 00 01 FB 00178 198:  CALLS #1, CDUSTOKEN_MUST_BE ;
50 5¢ DO 0017F 208:  MOVL  CLAUSE, RO ;1196
04 oo1a§ RET ; |
50 D& 00183 218: CLRL RO : 1201 |
04 00185 RET P 1203
; Routine Size: 390 bytes, Routine Base: SCODES + 033E
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14- -19 DISKS
lee
! Description: This sgntax routine recognizes a ‘‘value=clause'' contruct,
; which 1s used to define the characteristics of a value.
g Parameters: parent By reference, parent node of this construct.
g Returns: The top-level node for the value clause.
E Notes:

GLOBAL ROUTINE cduSvalue_clause(parent: ref node)
= BEGIN

local
clause: ref node;
! Determine which kind of clause we have.
if token_is(tkn_k_symbol,'CONCATENATE') then (

: We have a CONCATENATE clause. It conflicts with any existing
! NOCONCATENATE clause.

if cduScheck_for_children(.parent,node_k_noconcatenate) then
cduSreport_syntax_error(msg(cdu$_confnocon));

! Represent the clause with a node.
cduSget_next_token();
) return cduScreate_node(node_k_concatenate);
if token_is(tkn_k_symbol, 'NOCONCATENATE') then (

! We have a NOCONCATENATE clause. It conflicts with any existing
! CONCATENATE clause.

if cduScheck_for_children(.parent,node_k_concatenate) then
cduSreport_syntax_error(msg(cdu$_confcon));

! Represent the clause with a node.

cduSget_next_token();

return cduScreate_node(node_k_noconcatenate);
if token_is(tkn_k_symbol, 'DEFAULT') then (

! We have a DEFAULT clause. It conflicts with any existing DEFAULT
! or REQUIRED clause.

if cduScheck_for_children(.parent,node_k_default,node_k_required) then
cduSreport_syntax_error(msg(cdu$_confdefreq));

! Bypass any optional equal sign.

ey T

0=74 Page
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' PAR 15=Sep=1984 23:48:10 VAX=11 Bliss=32 v4.0-74 Pa 0
:VOQESGO 16-503-1934 i1:55:26 DISKSVHSHASTER:[CDU.SRCgPARSEZ.BSZ:1 o (i)
: 1 1261
: i 1 6; cduSget_next_token(tkn_k h,string):
: } 24 skip_optional_token(tki_K_equal,tkn_k_h_string);
: S 1265 ! The next token is either the default value, or an open
: 1 69 ! parenthesis to start a list of values. We need a buffer to
3 } ga ! accumulate the values.
: 539 P 1269 with_dbuffer(values,tkn_k_max_length,
;9540 P 1270
: 521 : } ;1 ! Clear the buffer.
; 522 : } ;‘ values(len) = 0;
: S:S : } ;S if not token_is(tkn_k_open_paren) then (
; gk% P 127 ! It is not an open parenthesis, so it must be the
: 548 P 1278 ! default value. Add it to our buffer as an ASCIC
B BNt L
;5§51 P 1281 chSwchar(.cduSgq_token[len], .values[EtrJ):
3 SSi P 1§8§ ch$move(.cdu$ ?_foken[lcn]..cdus q_tokenlptrl, .valueslptrl+1);
3 2 P 128 values(len] = 17+ ,cduSgq_token[lenl;
: 554 ¢ 158& cduStoken_must_be(tkn_k_string);
;955 P 1285
B B S
: 558 P 1288 : We have a parenthesized list of default values.
3 299 P 1289 ! Eat the open parenthesis. Then sit in a loop which
: 560 P 1290 ! recognizes at lLeast one value, alon? with any others
: 561 P 1291 ! separated by commas. Finally, eat the close paren.
: ggi : }53; i ALL of the names go in the buffer as ASCIC strings.
; gbg : }ggg tduSg?t_noxt-tokon():
; Sgb P 1296 ropg chSwchar(.cdu$gq_token([len], .valuestetrlt.values[lon]):
: 567 P 1297 ch$move (.cdu$aq fokgn[len].. duqu token(ptr],
; 568 P 1298 .valuesCptrl+. valuesClenl+T);
: 569 P 1%99 valuesClen] = .valuesllen] + 1 + ,cduSgq_token[len];
: 570 P 1300 cduStoken nust_bo(tkn_k_strin?): ]
3 M} P 1301 f not token_iS(tkn_k-comma) then exitloop;
3 g;g : } 8§ ) cduSget_next_token(Y;
; 276 P 1§04 c&uttoken_nust_bo(tkn_k_close_paren);
i3 b 1308 N
; S77 P 1§09 ! Create a node to represent the defaults, and put the values
: S;g : } 83 'in it.
: gao P 1310 clause = cduScreate_node(node_k_default,.valuesllenl,.valueslptrl);
i 38; 1312 ;
; égé } }% ! Check the lLength of the default values..
: 131 if .cla de_b_text_length] gtru ent_k_max_defval=1 then
: gg; } }; e u:ssggegﬁrf_s;nfax_grror?lsg(cdu!_aofaultlon),l.ent_k_nax-dofval-2);
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' PARS 1?-Scp-19 4 23:48:10 VAX=11 Bliss=32 v4.0-74 Page 21
1v06-880 16-509-1934 ;?:58:26 DlSKtvﬂsnASTER:[CDU.SRCiPARSEZ.BSZ:1 . (i)
- return .clause;

it token_is(tkn_k_symbol,'IMPCAT') then (

! We have an IMPCAT clause. It is represented by a node.

cduSget_next_token();

. return cduScreate_node(node_k_impcat);

it token_is(tkn_k_symbol,'LIST') then (

! We have a LIST clause. It is represented by a node.

cduSget_next_token();
return cduScreate_node(node_k_Llist);

it token_is(tkn_k_symbol,'REQUIRED') then (

: We have a REQUIRED clause. It is represented by a node.
! This clause conflicts with any existing DEFAULT clause.

W L W A N AN N N N NN PO PO N PO RO RO PO NN — —

ooooorOrOFOMONOM
S N TR A

if cduScheck_for_children(.parent, node_k_default) then
cduSreport_syntax_error(msg(cdu$_confdefreq));

cduSget_next_token();

, return cduScreate_node(node_k_required);

if token_is(tkn_k_symbol,'TYPE') then (

! We have a TYPE clause. It conflicts with any existing clause.

if cduScheck_for_children(.parent, node_k_type_builtin node_k_type_user) then
cduSreport_syntax_error(msg(cdu$_duptype));

! Bypass any optional equal sign.

NIPIRIRININININD = b e e b b e b
CONO WV NN = OOV NO WV NN =D

N

cduSget_next_token();
skip_optional_token(tkn_k_equal);
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83

! Now we have a ? mbol which is the name of the desired type.

! It it begins with a dollar sign, then it's a builtin type and
! we create a node with the type code. Otherwise it's a

! user-defined type and we create a node with the symbol.

if chtrc?ar(icdusgq,tolon[ptr]) eqlu '$' then (
oca

oo O OCOFONMOCOOCOMOCOrOrONOrOrOOONOM

NN N
IR =&

VSN W) -

o

type_code: byte;

SREEEE

NN = OO0

t{pe_code = cduSbuiltin_type(); 5
. ot clause = cduScreato.node(node-‘-type_bu1lttn.1.type_codc);
else
clause = cduScreate_node(node_k_type_user,.cduSgq_tokenllen],.cduSgq_tokenlptrl);
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PARS 1?-5. «1984 23:48:1 VAX=11 Bliss=32 v&.0=74 P 2
V04 14-s.3-193& f?:ggzzg oxsxsvnsnasren:tcou.snciranscz.aSZ:t i (S)
;. 645 1375 cduStoken must_be(tkn_k_symbol);
;64 1 7? return .clause; il
: 64 137 3
3 6&3 1 78
: 64 137 ! Dops, it isn't one of the above clauses. Tell the user and return
3 gg? } ? ! an error node.
3 6 1 cduSreport _syntax _errori(msg(cdus$ in lel ));
: 252 } i rcturnpgdu!cgnto:nodc(nodg_k,:rFor\)':. Se——
: egs 1385 1 END;
LPSECT SPLITS,NOWRT ,NOEXE,2
45 S4 41 GLE 45 S& 41 43 55 4F 43 0007F P.AAR: .ASCII \CONCATENATE\ ;
&5 54 41 4E 45 S& 41 43 Ag 4F 43 4F 4E O0O00BA P.AAS: .ASCII \NOCONCATENATE\ ;
S4 4C S5 41 46 45 4& 00097 P.AAT: .ASCII \DEFAULT\ ;
5¢ 41 43 gg 4 49 0009 P.AAU: .ASCI] \IMPCAT\ p
24 49 ‘s 00A4 P.AAV: .ASCII \LIST\ :
46 45 52 49 55 51 45 52 O000A8 P.AAW: .ASCII \REQUIRED\ :
45 50 59 54 O000BO P.AAX: .ASCII \TYPE\ :
.EXTRN CDUS_CONFNOCON, CDUS_CONF CON
.EXTRN CDUS_CONFDEFREQ
LEXTRN CDUS_DEFAULTLEN
.EXTRN CDUS_DUPTYPE, CDUS_INVVALCLAUSE
.PSECT $CODES,NOWRT,2
OFFC 00000 .ENTRY gguggnk¥s,g%?use. Save R2,R3,R4,RS,R6,R7.- ; 1215
58 000000006 30 9€ ooogg MOVAB  CDUSREPORT SYNTAX ERROR, R11 ;
§A 000000006 00 9E 000 MOVAB  CDUSGET NEXT_TOKER, R10 ;
§9 000000006 00 9E 0001 MOVAB  CDUSGL_TOKEN CLASS. R9 ;
§8 000000006 00 9€ 0001 MOVAB  CDUSGQ"TOKENT4, RS ;
SE FEF& cs 9{ 00015 MOVAB  =268(SP), SP :
0D 69 01 000 CMPL  CDUSGL_TOKEN_CLASS, #13 ;1224
23 18 00 g BNEQ 2% ;
50 6 g 00 MOVL  CDUSGQ_TOKEN+4, RO ;
08 00 60 FC A8 20 00028 CMPCS  CDUSGQ_TOKEN, (RO), #0, #11, P.AAR :
il W §°° ' BNEQ 2 3
33 DD 88 PUSHL cgl 1229
06 AC DD 000 PUSHL  PARENT ;
000000006 00 s rs 00 CALLS '8‘ CDUSCHECK_FOR_CHILDREN ;
09 E9 0004 BLBC RO, 1% ;
000000006 &F DD 0004 PUSHL  #CDUS_CONFNOCON P 1230
68 1 FB 00048 CALLS #1, CDUSREPORT SYNTAX ERROR 3
6A B 08«5 18: CALLS 02 CDUSGET_NEXT_TOKER ; 1534
o e o j
0D 39 D1 8 g 28: CMPL gbuSGL_IOKEN_CLASS. "3 ;1238
18 0 BNEQ $ 3
50 6 g 005A MOVL  CDUSGQ_TOKEN+4, RO :
0D 00 60 FC A8 20 00050 CMPCS  CDUSGQ_TOKEN, (RO), #0, #13, P.AAS :

. e
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1!-50 -1984 :48:10 VAX=11 Bliss=32 v4.0-74 Pa 3
14-5-3-1934 i?:sg:zo DISKSVHSHASTER:[CDU.SICiPAISEZ.BSZ:1 - (5)
0000* CF 63 ' :
2 12 BNEQ Sg s
0D PUSHL #50 P 1243
06 AC DD 0006A PUSHL  PARENT :
000000006 88 Es 90 gtg%s :8' gguscntcx_rou_cnxLoneu :
000000006 8F DD 73 PUSHL -géu CONF CON P 1244
68 1 FB 70 CALLS #1, CDUSREPORT_SYNTAX ERROR :
6A g F8 00080 38: CALLS ng COUSGE T_NERT_TOKER ;1248
go og PUSHL  #51 ;1249
0184 31 85 4%: BRW 25% :
(i]) 89 g\ 833 5$: CMPL  CDUSGL_TOKEN_CLASS, #13 ;1252
s s BNEQ 6% 3
50 - g 08D MOVL  CDUSGQ_TOKEN+4, RO :
00 60 FC A8 20 00090 CMPC5  CDUSGQ_TOKEN, (RO), #0, #7, P.AAT :
0000* 8' 80033 :
3 13 00099 6%: BEQL 7% :
00BE 31 00098 BRW 1gs :
1F DD 0009E 7$: PUSHL #31 ;1257
19 DD 000A PUSHL  #25 ;
04 Ag 0D 000A PUSHL  PARENT :
000000006 00 2 fs 000A CALLS  #3, gouscuecx_ron_cuxLonen :
09 0 E9 000AC BLBC RO, 8% ;
000000006 8F DD OOOAF PUSHL  #CDUS_CONFDEFREQ : 1258
68 01 FB 000BS CALLS #1, CDUSREPORT_SYNTAX_ERROR :
0C DD 000B3 8%: PUSHL M2 i 1262
6A 01 FB 000BA CALLS #1, CDUSGET NEXT_TOKEN :
06 69 D1 000BD CMPL COUSGL _TOKER_CLASS, #6 : 1263
05 12 000C0 BNEQ 9% ;
0C 0D 8oocz PUSHL #12 ;
6A 1 FB 000C4 CALLS #1, CDUSGET_NEXT_TOKEN :
04 AE FF F9A 8ooc7 98: MovZBL #255, VALUES ;13N
08 AE 0C AE 9 000CC MOVAB  VALUES+8, VALUES+4 ;
06 AE B& 00001 CLRW  VALUES ;
07 69 D1 00004 CMPL  CDUSGL_TOKEN_CLASS, #7 ;
1C 13 00007 BEQL 108 ;
50 08 As go 0009 MOVL  VALUES*4, RO ;
5, FC A8 3C 0000D MOVIWL CDUSGQ TOKEN, Ré ;
60 56 90 000E1 MOVE  Ré6, (RD) :
51 ga gg 00E4 MOVL  CDUSGQ TOKEN+4, R1 :
01 A0 21 6 00E7 MoV C R6, (RY), 1(RO) :
06 AE . 01 A1 000EC ADDM3  #1. R6, VALUES ;
8 DD 000F1 PUsHL M :
& N § 8RB 118 ;
6A 0 FB 000F5 108: CALLS  #0, CDUSGET_NEXT_TOKEN ;
ot 046 AE 3C 00OF MOVIWL VALUES, Ré ;
50 gg 08 AE C1 000FC ADDL3  VALUES+4, R6, R :
FC A 0181 MOVZWL cgussa TOKEN. R ;
go S 0105 MOVB R7, (RO) :
1 29 0108 MOVL  CDUSGQ TOKEN+4, R1 :
01 A0 21 1 MOVC3 R7, (RT), 1(RO} :
0 01 A74 5 1 MOVAB 1(R7)[R6S, RO ;
06 AE 50 80 0011 MOVW RO, VALUES ;
8 0D 0011 pusiL. M1 :
000000006 82 1 r? 1" CALLS  #1, CDUSTOKEN_MUST_BE ;
69 D lg CMPL COUSGL _TOKEN_CLASS, #5 3
CE 13 001 BEQL 108 ;
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1"
1§-so -1984 23:48:1 VAX=11 Bliss=32 v&.0=74 Pa 4
1&-5.3-193‘ f?:si:zg DISKSVMSMASTER: [CDU.SRCIPARSE2.B32; 1 o (f»
DD 00127 PUSHL # ;
000000006 00 8? FB8 00109 118:  CALL 0’. CDUSTOKEN_MUST_BE :
83 AE go 1 PUSHL  VALUES+4 :
7€ ? Dg } =8§£UL :AkUES. -(SP) :
000000006 00 gs f 139 CALL '§' CDUSCREATE _NODE :
4 g 14 MOVL RO, CLAUSE :
SF f 10 A4 14 CMP8  16(CLAUSE), #95 ;1315
F 18 814 BLEQU 128 :
7€ SE B8F 9A 0014A MOVIBL #94, =(SP) : 1316
1 0D 148 PUSHL  #1 :
000000006 8F DD 001 PUSHL  #CDUS D:FAULYLEN :
3 EB 001 8 ALLS #3, CDUSREPORT_SYNTAX_ERROR :
oopl 31 001 1;:: RW 23§ P 1318
00 69 D1 0015C 138:  (MPL  (DUSGL_TOKEN_CLASS, #13 : 1321
15 18 015F BNEG 148 :
50 eg 00 00161 MOVL  CDUSGQ_TOKEN+4, RO :
60 FC A8 2D 00164 CMPCS  CDUSGQ_TOKEN, (RO), #0, #6, P.AAU ;
0000* CF 016A :
07 12 00160 BNEQ  14$ :
6A 00 FB 0016F CALLS #0, CDUSGET_NEXT_TOKEN P 1325
10 DD 80172 PUSHL  #29 ;1326
A 11 00174 BRB 17% :
00 69 D1 00176 148:  CMPL  CDUSGL_TOKEN_CLASS, #13 : 1329
15 18 00179 BNEG 158 ;
50 68 g 00178 MOVL_  CDUSGQ_TOKEN+4, RO :
60 FC A8 2D 0017 CMPCS  CDUSGQ_TOKEN, (RO), #0, #4, P.AAV :
0000°* CF 00184 :
07 12 00187 BNEQ 158 :
6A 00 FB 00189 CALLS og CDUSGET_NEXT_TOKEN P 1333
1€ DD 0018C PUSHL  #30 ;133
30 11 00135 BRB 178 : |
0D 69 D1 00190 158:  CMPL  CDUSGL_TOKEN_CLASS, #13 ;1337
20 13 00193 BNEG 188 ;
50 68 g 80195 MOVL  CDUSGQ_TOKEN+4, RO ;
60 FC A8 20 00198 CMPCS  CDUSGQ_TOKEN, (RO), #0, #8, P.AAW :
0000* CF 80195 ;
1F 12 001A1 BNEQ  18% ;
19 0D 001A3 PUSHL  #25 P1342
04 A DD 001AS PUSHL PARENT : ;
000000006 00 g rg 01A8 CALLS '5‘ COUSCHECK_FOR_CHILDREN ;
09 E9 001AF BLBC RO, 168 ;
000000006 8F DD 0133 PUSHL  #CDUS_CONFDEFREQ P1343
68 81 FB8 0018 CALLS #1, CBUSREPORT SYNTAX ERROR :
6A 0 FB 001BB 168:  CALLS ng COUSGET_NERT_TOKER P 1345
1F DD 0018 PUSHL  #31 P 1346
7A 11 001C0 17$:  BRB 25s :
(i) 69 DI 81c 188:  CMPL SDUSGL_!DKEN_CLASS. "3 P 1349
64 18 1€ BNEG 4 ;
50 68 g 01¢ MOVL  CDUSGQ_TOKEN+4, RO :
60 FC A8 20 001CA CMPCS  CDUSGQ_TOKEN, (RO), #0, #4, P.AAX ;
0000°* CF 010 ;
C 12 001D BNEQ 24 :
1 ob 001D PUSHL og P 1353
0 DD 00107 PUSHL # ;
046 AC DD 8109 PUSHL  PARENT ;
000000006 00 03 FB 001DC CALLS  #3, CDUSCHECK_FOR_CHILDREN ;




PARS 1§-s. -1984 23:48: VAX=11 Bliss=32 v&.0-74 B

v0£-880 1&-s.3-1934 7?:58-}2 ox SKSVM s ER:CCDU.SRCIPARSE2.B32:; 1 (‘)
09 0 E9 001E3 BLBC :

000000006 BF DD 001Ed PUSH '?6" grtvr * 1354
68 1 FB 001EC CALL BUSREPORT smnx ERROR :

SA r? 1EF 19%: CALLS #0. couseer NEXT TOKER : 1358

6 ? 1f CMPL gseL TOKER_ CLASS #6 : 1359
A 'S 01 CALLS 50 COUSGET NEXT TOKEN s

go 6 g§ 1FA 208:  MOVL  CDUSGQ TOKEN , RO : 1366
‘ L I U ;

0000v CF 58 CALLS 08. CDUSBUILTIN_TYPE : 1370
6E 9 8 MOV8 RO, TYPE_CODE ;

£ DD A PUSHL SP P13
1 0D 0020C PUSHL M :

g 0D 0020 PUSHL  #32 : 1

11 0021 BRB 22% ; |

0 go 0212 21%: PUSHL RO P 1373
7€ FC A8 3C 00214 MOVZWL cogsco TOKEN, =-(SP) :
81 DD 00218 PUSHL :

000000006 00 3 FB 0021A 22%: CALLS 03 CDUSCREATE _NODE ; |
54 50 D0 00 31 MOVL RO, CLAUSE :

0D DD 00224 PUSHL #1% : 1375

000000006 00 01 FB 00226 CALLS  #1, CDUSTOKEN_MUST_BE ; |

50 54 82 80558 238: :8¥L CLAUSE, RO : 1376

000000006 8F DD 08231 248: PUSHL  #CDUS INVVALCLAUSE ;1382
68 01 FB 00237 CALLS  #1, CDUSREPORT_SYNTAX_ERROR :

7€ D& 0023A CLRL  =(SP) : 1383

000000006 00 01 FB 0023C 25%: CALLS  #1, CDUSCREATE_NODE ; |

04 00243 RET : 1385

; Routine Size: 580 bytes, Routine Base: SCODES + 04C4 1
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144
! Description: This syntax routine recognizes a builtin type symbol,
which Zan be specified ig a TYPE clause. . ™

Parameters: None.

Returns: B; value, the corresponding numeric code. Zero is returned
it the name is invalid.

i Notes:

ROUTINE cduSbuiltin_type
= BEGIN

own
type_names: vectorlent k_max_valtype+1,long] initial(
ctext(¥Y'Y,
ctext('SINFILE®)
ctext("SOUTFILE'
ctext (' SNUMBE
ctext("SPRIV
ctext("SDATE
ctext('$PROT
ctext('SPROC
ctext("SINLO
ctext('SOUTL
ctext('SINS
ctext('SOUT
ctext('SNOD
ctext('SDEV
ctext('sblg
S

OCOO0O0O0O0OOOO VYV VYV Y VOO0

N = OOV 00NV AN = OV NS AN = O O 0O N NS AN = O 0 00 NOM N 8 N = O O 00 N O WL B N = O O O~ O

G

ek BOCOMIM —=foe

ctext('SUl
ctext('SRE
ctext('$PAR
ctext('SDEL
ctext('$QUO

SN N U 0 M = =4 T =

ctext("'
ctext('

rmmmors

type_codes: vector[ent_k_max_valtype+1,byte] initial(byte(

ent_k_infile,
ent_k_outfile,
ent_k_number,
ent_k_privilege,
ent_k_datetime,
ent_t_protection.

ent _?rocess.
k_

ent_k_inlog,

ent_k_outlog,
ent_k_insym,
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714 1443
715 1444
71? 1445
n 1449
713 144

4 1643
720 144

721 1450
7 g 1651
7 145§
724 145

725 1454
726 1455
7%7 1459
728 145

7%9 1458
730 1459
73 1460
73% 1461
73 146§
734 146

735 1464
736 1465
737 1466
738 1467
739 1468
740 1469
741 1470
74 1471
74 147§
744 147

745 1474
746 1475
747 1476
748 1477
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59
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15-Sep=-1984 i3:43:10 VAX=11 Bliss=32 vé4.
14=Sep=1984 11:58:26 DISKSVMSMASTER:[C
ent_k outsvn.
ent_k-n %
ent,k_dov ce,
ent_k_dir,
ent_k_uic
ent_k rostofline.
ent_k_parenvalue,
ent_k_deltatime
ent_k ?uotedstr¥ng.
ent_k_
ent_k_ exprossion.
ent_k" test1.
ent_k_test
ent k- test
ent “k-a
! Sit in a loop searching the table of type names for the symbol in the
i token buffer. If a match is found, return its corresponding number.
incru i fron 1 to ent_k_max_valtype do (
3 name = .type_names[.i): vector[,bytel;
3 if chSeql(.cdu$gq_tokenllenl,.cdu$gq_tokenlptrl, .name(0],name(1].,' ') then
3 s return .type_codes[.1];
2 L]
S ! The user specified an invalid builtin type.
2 cduSreport syntax_error(msg(cdu$_invtype),1,cduSgq_token);
g return 0;
1 END;
PSECT SPLITS,NOWRT,NOEXE,?2
00 8008& P.AAY: LASC) <0>
45 4C 49 46 4E 49 24 07 000B5 P.AAZ: .ASCII <7>\SINFILE\
&5 4C 49 46 54 S5 4F 24 08 000BD P.ABA: .ASCII <B>\SOUTFILE\
52 &5 &2 4D 55 ks 4 87 808(6 P.ABB: LASCII <7>\SNUMBER\
45 &4C 49 56 49 52 5 & OA OO00CE P.ABC: LASCII <10>\SPRIVILEGE\
4D 49 54 45 54 41 44 24 09 000D9 P.ABD: LASCII <9>\SDATETIME\
56 43 45 54 4F 52 50 24 8% O000E3 P.ABE: .ASC <11>\SPROTECTION\
53 53 45 43 4F 52 S0 24 OOEF P.ABF: .ASC <B8>\$PROCESS\
47 4&F 4C ki 49 24 9 OOF8 P.ABG: LASCII <6>\$INLOG\
47 4F 4C 54 55 4F 24 OOFF P.ABH: .ASCII <7>\SOUTLOG\
& 59 53 4§ 49 24 ? 8187 P.ABI: L.ASCII <6>\SINSYM\
& 59 53 54 55 4F 24 1 E P.ABJ: L.ASCII <7>\SOUTSYM\
&5 44 4F & 4 ; 0116 P.ABK: .ASCI) <S>\SNODE\
45 43 49 56 45 & 4 011C P.ABL: .ASCI] <7>\Sg CE\
52 4F S5& 43 45 52 49 44 24 QA 126 P.ABM: .ASCI) <10>\ DIRECIORV\
43 49 55 264 04 12F P.ABN: .ASC 2\$UlC\
46 &F SF 54 53 45 52 24 00 154 P.ABO: .ASC <13>\SRES! _OF _LINE\
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: Routine Size: 68 bytes,

Routine Base:

e e e e

PARS 15-
V04060 e
G 45 SA 49 53 45 4B 54 4E 4S5 gg 61 50 24 14 814%
45 4&C 41 56 5F 1§
45 4D 49 54 41 gk 4C 45 46 24 QA 81 7
&7 &LE 49 52 54 53 SF 44 45 54 4F 55 51 24 E 19?
45 4C 49 42 4 1
&E 4F 49 53 53 45 52 S0 58 4 4 g 177
1 56 53 & & 26 24 183
§ 56 53 45 34 26 264 07 0185
33 54 53 45 54 24 246 07 0019
4C 43 41 24 04 00198
00000000* 00000000* 00000000* 00000000* 00000000* 00000000* 00000
00000000+ 00000000* 00000000° 00000000* 00000000* 0000000* 00018
00000000* 00000000* 00000000*' 00000000 00000000* 00000000* 00030
00000000* 00000000* 00000000* 00000000* 00000000*' 00000000* 00048
00000000' _00000000* 00060
OE Op OC OB OA 09 08 07 06 05 04 03 02 01 00 00068
19 18 17 16 15 14 13 12 11 10 OF 00077
007C 00000
56 000000006 00 9E 00002
55 046 A6 00 00009
54 01 00 0000D
50 0000'CF44 DO 00010
51 60 9A 00016
51 20 65 66 20 00019
01 A0 0001E
07 12 00020
50 0000°'CF44 9A 0002%
04 0002
54 D6 00029
19 56 D1 800 B
EO 18 000
6 0D 80
31 0D 000
000000006 8F DD 00034
000000006 00 03 FB 0003A
50 D& 00041
04 00043

$CODES + 0708

i

P.ABP: .ASCII
P.ABQ: .ASCII
P.ABR: .ASCII
P.ABS: .ASCII
P.ABT: LASCII
P.ABU: .ASCII
P.ABV: .ASCII
P.ABW: .ASCII
P.ABX: L.ASCII
PSECT
TYPE_NAMES:

.ADDRESS P.AAY, P.AAZ, P.ABA, P,
ABD, P.

P ‘ABE P BF P. IiG UAB"' Po‘“’l'
P.ABJ. P.ABK P.ABL. P.ABM. P.ABN. P.ABO.
P.ABP, P.ABQ, P.ABR. P.ABS. P.ABT. P.ABU.
P.ABV. P.ABW. P.ABX
VRS2 e o 1,2, , 8,9, 10, 11, 12
1%, , 16 17 .19, %0, &, 32, -
23, 2. 2
LEXTRN cous_lnvrvps
.PSECT $CODES,NOWRT,?2
COUSBUILTIN TYPE:
WORD Save R2,R3,R4,.RS5.Ré
HOVAB CbusGa_fOKEN, Ré
MOVL cousso TOKEN+4, RS
MOVL
18: MOVL rvie _NAMESCI], RO
MOVZIBL (RO)T R1
CMPC cousco TOKEN, (RS)., #32. R1., 1(RO)
BNEQ 2%
=2¥ZBL TYPE_CODESCI]. RO
2%: INCL 1
CMPL 1, #25
BLEQU 1!
PUSHL
PUSHL
PUSHL vcous INVTYPE
CALLS  #3, CDUSREPORT_SYNTAX_ERROR
gk N

VAX=11 Bliss=32 V

24

<20>\SPARENTHES1ZED_VALUE\

<10>\$DELTAT]HE\
<14>\SQUOTED_STRING\
<SO\SFILE\
<11>\SEXPRESSION\
<TO>\$STESTI\
<T>\$STEST2\
<T>\$STEST3I\
<OO\SACL\

$OWNS ,NOEXE,2

DISKSVMSMASTER: [CDU SRC PARSE2.B32;1
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LI TR TR PR T

Aol

AL TR TR PR PR PR TR T TR T

1398
1468

1466 |
1468

1469 |
1464 |

1474

AR LA LR I R T P P P P R TR TR T T )

—_——
S




o

SNNNNSNSNNNNNY
VIVHWAUTWAUWWAUWA

e le e QWP W N Bl

760

LA TR TR PR LR L R A L LR L L L L L L T T T P T P P TR P TR PR TR R T T T T T T TR TR IR TR T
~
~

— ——

e

BB

NO O O O O ~O 00 00 00 0O 00 00 00 00 00 00 N ~J

— ) ) il il il — ) - ) ) ) — ) -l el il e el D D D D e D D D D D D D D D D el D D el D ) D el il D
wacoawouvbw-oouwoubw-OOOsnxwaw-coasAOV-&w-oow
= PININI NN NI NI NI N N NN N N N AN N A NN AN A N AN PO RO RO NI NI RN =8 b b b b b b b b e b b

VI AWMTTAWMAVTAMTAWVWVIVIIAWVAWVIWWAS S BN S B BB

PINININ) =t b b e e i i et 2 O O OO OO OO OO VOV

&5

& 49

l44
Description: This syntax routine recognizes the '‘cli=flag'' construct,
which is simply one of the allowable CLI flags.

Parameters: parent By reference, parent node of this construct.

Returns: A node representing the flag.
Notes:

- e
L]

GLOBAL ROUTINE cduScli_flag(parent: ref node)
BEGIN

local
flag: ref node;

! Determine which CLI flag we have.

flag = (if token_is(tkn_k_symbol,'ABBREVIATE') then

cduScreate node(node_k_abbrev)

else if token_is(tkn_k_symboU,YFOREIGN') then
cduScreate_node(node_k_foreign)

else if token_is(tkn_k_symbol,YIMMEDIATE®') then
cduScreate_node(node_k_immed)

else if token_is(tkn_k_symbol,YMCRIGNORE') then
cduScreate_node(node_k_mcrignore)

else if token_is(tkn_k_symbol,YMCROPTDELIM') then
cduScreate_node(node_k_mcroptdelim)

else if token_is(tkn_k_symbol,YMCRPARSE') then
cduScreate_node(node_k _mcrparse)

else if token_is(tkn_k_symboU,"NOSTATUS') then

. cduScreate_node(node_k_nostat)
else

):
! If we didn't find one, that's an error. Go on to the next token.

cduScreate_node(node_k_error)

it .flaglnode_w_typel eqlu node_k_error then
cduSreport_syntax_error{msg(cdu$_invcliflag).,1,cduSgq_token);

cduStoken_must_be(Tkn_k_symbol);

return .flag;

END;
LPSECT SPLITS ,NOWRT,NOEXE,2
54 41 49 56 45 Sg 65 42 41 001A0 P.ABY: .ASCII \ABBREVIATE\
4E 47 &9 45 52 4F 46 OQO0VAA P.ABZ: .ASCII \FOREIGN\

45 54 41 49 44 45 4D 4D 49 001BY P.ACA: .ASCII \IMMEDIATE\
45 SZ 4F 4E 47 49 g 43 4D O001BA P.ACB: .ASCII \MCRIGNORE\
C 45 44 54 S50 4F 43 4D 001C3 P.ACC: .ASCII \MCROPTDEL IM\

&5 53 52 &1 50 52 43 4p OO1CE P.ACD: .ASCII \MCRPARSE\
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14=Sep~1984
4 00106 P.ACE:

FC 00000
9€E 8000;
9¢ 008
D4 000
01 0001
12 801
06 00019
D0 00018
2D 0001F
00024
12 00025
DD 00027
11 00029
E9 00028
00 000%5
2b 000 ;
0003
12 00039
DD 00038
11 00030
E9 0003F
D0 00042
2D 00046
00048
12 0004D
DD 0004F
11 00051
E9 00053
D0 00056
2D 0005A
0005F
12 00061
DD 00063
11 00065
E9 00067
DO 0006A
2D 0006
8007
12 0007
0D 80077
11 00079
E9 80078
gO 007€
0 008;
008
12 00089
DD 00088
11 00080
E9 0008F
gO 0092
D 00096
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4$:

5%:

6%:

1:58:26
LASCII \NOSTATUS\
.EXTRN CDUS_INVCLIFLAG
.PSECT $CODES,NOWRT,2
.ENTRY
MOVAB  P.ABY
MOVAB  CDUSGA_TOKEN, R6
CLRL  Ré
CMPL  CDUSGL_TOKEN_CLASS, #13
BNEG 18
INCL R4
MOVL  CDUSGQ_TOKEN+4, RO
CMPC5 CDUSGQ TOKEN, (RO),
BNEQ 18
PUSHL  #34
BRB 6%
BLBC R4, 7%
MOVL  CDUSGQ_TOKEN+4, RO
CMPCS  CDUSGQ”TOKEN, (RO),
BNEQ 28
PUSHL  #35
BRB 8s
BLBC R4, 7%
MOVL  CDUSGQ_TOKEN+4, RO
CMPCS  CDUSGQ_TOKEN, (RO),
BNEQ 3%
PUSHL #36
BRB 1]
BLBC R4, 7%
MOVL  CDUSGQ_TOKEN+4, RO
CMPCS  CDUSGQ TOKEN, (RO),
BNEQ  4$
PUSHL  #37
BRB 8s
BLBC R4, 78
MOVL  CDUSGQ_TOKEN+4, RO
CMPCS  CDUSGQ”TOKEN, (RO),
BNEQ 58
PUSHL  #38
BRB 2%
BLBC R4, 7%
MOVL  CDUSGQ_TOKEN+4, RO
CMPCS  CDUSGQTOKEN, (RO),
BNEQ 63
PUSHL  #39
BRB 8%
BLBC R4, 7%
MOVL  CDUSGQ_TOKEN+4, RO
CMPCS  CDUSGQ™TOKEN, (RO),

DISKSVMSMASTER: [COU.SRCIPARSE2.B32;1

CDUSCLIR;LAG. Save R2,R3,R4 ,R5,R6,R7

#0,

#0,

#0,

#0,

#0,

#0,

#10, P.ABY

#7, P.ABZ

#9, P.ACA

¥9, P.ACB

#11, P.ACC

#8, P.ACD

#8, P.ACE
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% 109

1489

1498

1499
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1507
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1509
1510

1501

1504
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;: Foutine Size:

796
797

Name

SPLITS
$CODES
SOWNS

File

000000006

000000006
000000006

209 bytes, Routine

15
15

24 1 END
25 0 ELUDOM

Bytes

12-;39-19 L i?:ggfég

14-Sep=-1984

36 A7 98
& 12 0009
g DD 0009F
11 000A1
E D& OOAg 7%:
22 21 F 00AS 8%:
g DO O00AC
65 BS5 000AF
11 1 0081
56 DD 80093
000000006 g; 88 883?
00 03 FB 80080
0D DD 000C& 9%:
00 01 FB 000C6
50 55 00 000CD
04 00000
Base: SCODES + 074C
PSECT SUMMARY
Attributes

478 NOVEC,NOWRT, RD ,NOEXE,NOSHR,
2077 NOVEC,NOWRT, RD , EXE,NOSHR,

130 NOVEC, WRT, RD ,NOEXE,NOSHR,

Library Statistics

~$2558DUA28: [SYSLIBILIB.L32;:1

Information:
Warnings:

; Errors:

§

-------- Syabols =~eeeeces
Total Loaded Percent
18619 4 0

COMMAND QUALIFIERS

VAX=11 Bliss=32 v4.0-74
DISKSVMSMASTER: [COU.SRCIPARSE2.B32;1

BNEQ 7%

PUSHL  #40

BRB 8s

CLRL -(SP)

CALLS #1, CDUSCREATE_NODE

MOVL RO, FLAG

TSTW (FLAG)

BNEQ 9$

PUSHL Ré

PUSHL #1

PUSHL  #CDUS_INVCLIFLAG

CALLS #3, CDUSREPORT_SYNTAX_ERROR

PUSHL  #13

CALLS #1, CDUSTOKEN_MUST_BE

MOVL FLAG, RO

RET

LCL, REL, CON,NOPIC,ALIGN(2)
LCL, REL, CON,NOPIC,ALIGN(Z)
LCL, REL, CON,NOPIC,ALIGN(2)
Pages Processing
Mapped Time
1000 00:01.9

Page

ad

BN
1513

1518
1519

1520

1521 |
1523
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BLISS/CHECK=(FIELD,INITIAL,OPTIMIZE) /LIS=L1S$:PARSE2/0BJ=0BJS:PARSE2 MSRCS:PARSE2/UPDATE=(ENMHS :PARSE2)

Size: 2077 code + 608 data bytes
Run Time: 00 1
Elapsed Time:
Lines/CPU Min: g
LoxonelePU-nin 22234
l Used: 34 pages
Compilation Conploto
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